3
Ol
Il
10
19
X
1z
©
2

3
T
it
o
g
T
Y
>

v
24k
Ao 1,087g
oe 135g
= 22.59
At 6759
E 560g
23 150g
O|AE 45g
(ﬁ%';'”éiﬂfgxm 109
TOTAL 2,884.59
Az=54
1. HEHE MT M MEE €10 X% 82 Y4 =, HHE @1 Ho|ECh / (BIF&2 & 20°C~23°C)
2. BFRZ 15A|2H SO M2 LFICL / (RE 7°0)
3. 1A YR E O 7, 80gH &g otct
4. S HHE ZAF7|I'2YCZ HetE F, W 5 {0 LorErt
5. 2At e =, o g2t FHFELE / (RE - 250 °C / O34 E - 200 °C)
6. YE MZT 2O 2Y H2{F10 OLR2[SC



L 20°C~23°C)

—_| o

o o| o o @

g2 g8 glggnel |4

| I|oa|Q|o|H|S ol

! ARSI g -
Eail

Al & 0l

OF | 1y o RIH o <0

doi Mol ol g | Wb 3 B RER] | ar

w| | w| e & o e | g

ofnl mod| w | = 0
M| of ar
Ko o7
1 K
NS
ar =F
K o
H I
o Kl
"
1
& o

e —~ e S S K.
< o HEEEHEEIEIEE - g
I BEEERAEENE B 1o
S of
— o =5
T 2 "o

| »
xT m_._._ o R1B
LT e
o & =<4 M0 zo
Oﬁ — ul T 2l Rolar 3 4 =
M <[ wl|— Ul ol = = B = =
u | op | o | R le._o[oL_.________ < oOF ®
— A S| 2y | B | o gy R e s 1 o

) Ro| 7| 210 | H iz o O o)
|3 T 51555 8 RO o Mo
ol ul FHFEFE o oL ¥

B R RIRKS 7
0 ez %
B R

= - 260 °C / Ot34= - 230 °C)

o
=

CF. / (

=
s

|

(]
F

__l.l.

I.



@ X| = Ztt s
v
=85
Ao 575¢
sy 509
= 3759
Mo|AE 29
YA 20g
A E ) 5099
TOTAL 1,322g
E2|%
AR 375¢
= 375g
Mo|AE 39
TOTAL 753g
* XY 2
1. oUY XxEES)
2. ojUE XX(Hs #UE)
Eols A 18A|2t 12A12t 6A|ZH 2A| 2
O|AE /1L(B) 1~2g 3~4g 8~10g 18~20g
Az257
1. ER2E O E24, E7tF, 28 88 941 M& 22 Yottt
2. 'REZ|Z': 208 ~ 602 80| ML 52 Yot =, MO|AE, A5 FYBCL / (HF2E : 20°C~23°0)
3. dEO0| 15412 M2 FAIZE 583 2, 9 15094 2ot} / (X 7°0)
4. 9f 4027+ HX|EIYS FCL
5 4% oY SEX= 2 10092 HA LolHFE BHR0| @10 |3 XMY LOorEL}
6. & 60E7t 2K YmBtCt
7. THEA AEHES E 2 G 22827 FYELD /(= - 260 °C/ OtH= - 230 °O)



S - AFERERRC

v
=85
HEEIIE 1,000g
r= 229
29 70g
2% 10g
= 7009
MO|AE 30g
H E 60g
CE 80g
s, |
(’ﬂ%‘gggglﬂ) 109
TOTAL 2,182g
Ax=574
1. HEE Mot HEE FUSHH X% 82 Yot
2. Z[BEHA0] oM HHE @10 S&5| 40ELt
3. 9f 6ozt H20|M 1A ER5t0] THEA HETH 2, °F 60g ¥ 2 =Lt
4
5



@ & =2 H|0|=(1009)

wjghe

Kir
I

_ﬁgat H'“OI%

D D j@)) D O D [@)]
SRR EEE
| Q[N G|OO | Sa| Y Q|
_ 7| H R
| u g up LR
I | wo| S| <I|Ko| 4| F| B m | HES
AOVAC o zu| ™ 5| o | M| 51| ™| 5 |y OF| 2 Mo
z m I 5|3 B
YR

2,5509

TOTAL

A 223

Ui

HE|, 322, =3HS

1.

0
KE

0]

5
2580

H
=

2|, xTFES

'

Aol HOI=E HE

xS

2.

=
il
~
=)
{0
101
M
K
<
S K
ofJ ko
vl
oo
N %0
TR
S -
© B0
of X0
Mmoo

= - 250 °C / OF2H& - 240 °C)

o
=

I =CE / (

o
F



